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Remesh uses a machine learning model to capture the behavior of each
individual participant, and of the group as a whole, for each open-ended Opinion 
Ask question in real-time. The model engages participants in a series of exercises in 
order to learn which responses participants agree or disagree with, as well as how 
much they agree or disagree with each response.

H O W  D O E S  R E M E S H  U N D E R S T A N D  P A R T I C I P A N T S ?

H O W  D O E S  T H E  M O D E L  L E A R N  A N D  P R E D I C T 
P A R T I C I P A N T  B E H AV I O R ?

The Remesh model has one primary objective: infer every participant’s preference 
(known as utility) towards each response. Infer is crucial here the model is making 
inferences about how participants would vote on responses since running a 
complete set of exercises on every response for each participant would be 
unmanageable in a live setting.

Our model learns from the live exercises the participant completes during the 
conversation, as well as the linguistic meaning of each response:

1.

2.

When a participant selects the response they agree with more from
two choices, this tells our model that the participant has a higher
preference (utility) for that response (+1).

When a participant says they “agree” with a response, that tells our
model that their preference (utility) towards that response is positive
(+1). If they select “disagree” our model learns that the participant’s
preference (utility) is negative (-1).

As an example, let’s say we have 4 participants who each submit their
own response. They all agree, disagree, or select one response or another.
However, we don’t get their preference (utility) for every single responsethe 
matrix below illustrates this:
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A few important
keywords to know:

Utility:
A scale of how much 
a participant prefers 
a response.

Utility Matrix:
A mapping of utility
value from each
participant to each
response.



Though we can’t make explicit decisions about how every participant feels about 
a response (for example, we can’t know for sure how Participant #2 feels about 
Response #2), we can make an educated inference based on other data in the 
matrix. In this example, participant #2 and #4 have the exact same opinions about 
response #3 and #4, so we can infer they would have similar opinions about other 
responses. Since we can’t know for sure, we would assign values that are smaller:

H O W  A R E  T H E  G A P S  F I L L E D  I N ?
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This is a simplistic version of the model, for more advanced reading on the matrix 
completion process Remesh does during an open-ended question please go here.

The primary metric used within the Remesh platform is “percent agree”. Percent 
agree is the percent of participants that our model has inferred would agree with 
that specific response out of the whole group of participants.

This value is computed by simply counting how many participants have a positive 
preference (utility) and dividing that number by the total number of participants.

See below as an example of how you would calculate percent agree:

U N D E R S T A N D I N G  T H E  R E S U L T S
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As the conversation is live, we generate a mathematical representation of the 
semantic meaning of each response. These representations indicate how similar 
a given response is to all other responses. The similarities between responses help 
the model more accurately predict utility scores. For instance, the model uses the 
knowledge that two responses are similar to assert that they have two similar sets 
of utility scores.

W H E R E  D O E S  N A T U R A L  L A N G U A G E  C O M E  I N ?
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Remesh Live Frequently Asked Questions

Remesh processes the language in participants’ responses before running them 
through a natural language processing (NLP) algorithm that analyzes term 
frequencies to estimate their importance. This allows Remesh to surface potentially 
interesting topics that arise.

H O W  D O  “ C O M M O N  T O P I C S ”  W O R K ?

The algorithm doesn’t simply count the number of times a word or phrase appears. 
Remesh currently uses a ranking algorithm called “Tf-idf” which stands for “term 
frequency-inverse document frequency”, and is used as a way to reflect how 
important a word is to a document. It works by increasing proportionally to the 
number of times a word appears in a response, but is offset by the number of 
times that word appears in general.

So, words that are common in every response, such as “this”, “what”, and “if”, rank low 
even though they may appear many times, since they don’t mean much in particular. 
Variations of the algorithm are often used by search engines as a way to rank and 
score a document’s relevance to a user’s query. In this case, document = a single 
participant’s response.

W H A T  I S  T H E  A C T U A L  A L G O R I T H M  T H A T
“ C O M M O N  T O P I C S ”  U S E S ? 



No. The accuracy is nearly identical when using our latest class of prediction model.

I S  L I V E  M O R E  A C C U R A T E  T H A N  A S Y N C ?
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Remesh Flex Frequently Asked Questions

The first participant will respond to each question but will not participate in the 
voting exercises shown when they submit their response on an Ask Opinion question 
type. Subsequent participants will participate in the voting exercises after submitting 
their own responses. This experience has no negative impact on the algorithm. 

W H A T  I S  T H E  E X P E R I E N C E  F O R  T H E  F I R S T 
F L E X  P A R T I C I P A N T ?

The Remesh algorithm learns and makes predictions from the meaning it extracts 
from each response. For responses with little or no voting data, the algorithm can 
predict the percent agreement scores by extracting the meaning of the response 
with the same accuracy as responses submitted earlier in the conversation. 

H O W  D O E S  T H E  A L G O R I T H M  W O R K  F O R  T H E  L A S T 
F E W  R E S P O N S E S  S U B M I T T E D ?

Have questions?
Shoot them on over to us at hello@remesh.ai or visit remesh.ai


